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® /ABT = /ATP
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3 F2.9] Hlo]i= oABCD of|A] BH 9] Wo| £ #h At et

Al (¢}

;_%:ﬂ/\i DC = 10cm, DE = 6cm©]22 CE = 8cm
webA] gDABCD = (8 +2) x 8 x % = 40( cm)

AB = CE = 8cm°| 22 B9 B2 22 4cm
weba (3h19] Hol)= x 42 x % — $r(om?)

- (A 22 Wol)= (40 - 8r) cm?




s ZHAMA d el

~ ~ N
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4x = 66°
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/BDE = 75° o|t}. AC 9} BE ¢ 73S
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> =g 105 °
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/N N
5.0ptAB = 5.0ptBC °|2 =&
/AEB = /BDC = x
OACDE oA
/CAE = 180° — /CDE

=180°— (75° + x)
=105°—-x
(CPE = /CAE + x =105°




21. o2 2™ o] £C=90° 2 A7
ABC ©|4 AC ¢] Zol&?

® acosB @ csinA ® -2 L
cosB ,
@atanB ® .ac Y
sin A B

sin B, tan BE: ]85t £t




22. th2 3" Zol H A A 9 FH 0 o AL ae uf Y3t
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/DCO = a, /PAD = /DAC = b 2} 5}1L

/OPA =90° o]1

AOCP £ OC = OP ¢l o]5H4Ztgo| oz
(DCO = /DPO =a

(ADP = x 2 =0T AADP of A

(PAD + /OPA + /DPO + /ADP = 180° o] 22
a+b+90°+x=180°--- O

ESH /ADP = AACD 9] 9]Zto|n g

(ADP = /DAC + /DCO

T x=a+b

ol @Al skl EH x=45°

. LADP = 45°
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@ 3 @ 4 ® 5
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AQxQB=CQxQT

AQx6=8x3 L AQ=14

PT” = PA x PB oA (4V6)% = x(x + 10)
¥ +10x-96=0

(x+16)(x—6) =0 Lox=6 (" x>0)




24. g 397 2 90 o4 A42E 0ABC 7 FaxH el 2 u,
LOAB ©| 7|2 Ftolet.

[> Heh: 60 °

(AOC = 2a B T AHZHY ABCO 7} HPAtHFol B2
/ABC = 2a

Oh 133 Zol A 9ot H D E o

/ADC =a

AHZE ABCD + 9ol Yiste g

2a+a=180° .. la=060°

AHZte ABCO 7} HaAPH 0| B2

/OAB + /AOC =180°

LOAB + 2/a = 180°

. /OAB =180°—-2/a =180°-120°=60°




25. o I™olA A& AB &= A5o] ofd do]il DA + Aot
/ADE = /BDE ©|1! /APE = 48° & ©j, /BAC ¢] Z7]& o=t

\VARR 4
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84 °
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HAT} dol o|F= 72 1 7+ Y7o A= 59 dF79
FrjetFovz

(ABC = £/CAD

ADAP oA /ADE + /CAD = 48° 0|22

ADEB 9|4 /BDE + /ABC = /AEP = 48°

AAEP oA /BAC = 180° — (48° + 48°) = 84°




